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Just as her ‘becoming’ married is — 5022 INNSXS AR VI T 7R
with money, so too her leaving should be with money

OVERVIEW

After the X723 derived 0w “w17°p from 70°m ARX™ that just as she leaves with
a 7vw, she is also acquired with a 70w, the X3 asked that with the same
wp 1, she should be 7032 7ARXY.Our MooIN explains why the same question
was not asked concerning 1X>2.

mooIn anticipates and resolves a difficulty:
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However concerning ;1%°2 we could not say; just as her 77 is with 783,

so too her leaving the marriage should be accomplished with 7X%3. This

reasoning is absurd -
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Since he is divorcing her in order to distance himself from her; how can
this distancing be effected through nx>2!

An additional reason for rejecting this proposal:
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And in addition, one usually divorces his wife because he found by her
an 227 n1y, and then he should separate himself from her.

SUMMARY

There was never any thought of effecting w173 through 7X°3, for his
intention is to distance himself from her, and in addition she may be suspect
of acts that require him to abstain.

THINKING IT OVER
What are the relative advantages of each answer of n190I1n?

' An 727 N refers to an impropriety related to adultery, where she becomes forbidden to him.
2 The 70 writes (X,72 [X¥n] 0°27) concerning 2173 that 121 927 MY 712 K¥A D PP I RN KR OR 7O
indicating that the reason for 117 is that 727 M7y 72 RX¥A.
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